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= 0.17 = Moon
& 0.38 L= Mercury
= 0.86 = Venus
= 0.38 = Mars
& 2.87 = Jupiter
= 132 = Saturn
& 093 = r Uranus
& 123 = Neptune

Conclusion: Complete each statement with the moon and/or your favorite planets.

1. A person would weigh more on than on
because

2. A person could jump further on than on
because

3. The force of gravity between 4wo objects depends on

4. While a person's weight would be different on the moon and planets, would the
amount of matter making up the person (mass) be the same or different? Why?





